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Choose the correct option to complete each sentence:

1. It's important to
through regular exercise and a balanced diet.
a) go up
b) take care
c) get dirty
d) get married

2. Oops! | didn't mean to in my
calculations on the board.
a) get hurt
b) make a mistake
c) be born
d) go back

3. The stairs are broken; we'll have to
to the ground floor using the

elevator.
a) go down
b) get fat
c) get thin
d) be late

4. After the intense workout, | tend to

due to the increased metabolism.

a) get married
b) go up

c) get thin

d) take care

5. Be cautious not to when
handling sharp objects.

a) go back

b) be born

c) get hurt

d) go up

**Answers:**

1. b) take care 5.¢) get hurt
2. b) make a mistake 6. a) get dirty
3. a) go down 7.¢) be born
4. c) get thin 8. b) go back

of your health

6. The children love to play outside and always
manage to
a) get dirty
b) go down
c) get married
d) make a mistake

7. My sister will next month, and
we're eagerly awaiting the new arrival.
a) be late
get fat
be born
take care
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8. We need to and retrieve the
lost keys from the car.

a) get hurt

b) go back
c) take care
d)

get thin

9. The elevator is out of order, so we have to
the stairs to reach the top floor.

a) go down

b) go up

c) make a mistake
d) get married

10. Couples often decide to ina
beautiful ceremony surrounded by friends and
family.
a) get married
b) get fat
c) go back
d) be late

9.b) go up
10. a) get married



